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Paper-VI
TT-VI

GENERAL SCIENCE , ENVIRONMENT AND
TECHNOLOGY DEVELOPMENT

| faq™, uHiaur ud deheienl faentd

Instruction :

(i) Candidates are required to answer all questions.
(ii) Question number 1 (one) is compulsory and is of objective type.
(iti) Question number 1 has 20 (twenty) questions carrying 2 (two) marks each.

(iv) Question number 2 to 6 are of descriptive nature and answers should not exceed 500-600 words.
(v) Question number 2 to 6 are of equal value carrying 32 (thirty two) marks each.
frdor:
() el @ gt ge i @ S eriferd g
(i) 999 G&a | () 3ifard @ ud aegfis JHR #T Bl
(iii) F99 Qe 1 (W) d 20 (99) 599 &1 g% 999 2 (31) 3% P Bl
(iv) F97 §@T 6 F 6 foqanoneqes & [ S 500-600 Il | e 7 &l
(v) 999 9= 2 § 6 % G4 g9 F A SR & a1 §odd §97 32 (TH19) 3F H Bl
1. frfafaa swgfis ueai o 9 98 SW H =99 A (20 x 2 = 40)

Choose the correct answer in each of the following objective questions.

(I) 20 Hz ¥ %# g ol &afd &l wed

(a) #=A =@ (b) %A =AM
(c) TUHeA A (d) AR
Sound of frequency below 20 Hz are called
(a) Audio sounds (b) Infrasonics
(¢c) Ultrasonics (d) Supersonics
(II) 39 et o 1 S99 T ol W 331 L W@d &1 39 oo o weifeq s et 7t s
2

(a) %G I HE T I Y S IS

(b) 39 TR ¥ owe fohaT @@ ermen

(c) I & T W

(d) =9 & T W

Abody is lifted from the ground onto a table by you. The amount of work preformed in the process
not depends upon

(a) the path along which you lifted the body

(b) the time taken by you in the process

(c) the weight of the body

(d) your own weight

(1) g4 % =R R ufhar &7 arell geat &1 1 @

(a) TR (b) IETAHR
(c) T (d) <reEet
{2)
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The orbit of revolution of the earth around the sun is

(a) Circular (b) Elliptical
(c) Parabolic (d) Hyperbolic
(IV) 99 U& Gifera aa ffdr fie ) asreas & &3 81, af S9! ffast et
(a) w&dt (b) =t @
(c) emfafdd wdt = (d) werdt &t
When a conservative force does positive work on a body, its potential energy
(a) increases (b) descreases
(¢c) remains unalitered (d) fluctuates
(V) eaiiest faw & fuar frefotea § @ & 22
(a) Hed (b) O
() T (d) =TT = S|
Father of Genetics is
(a) Mendel (b) Morgan
(c) Muller (d) Hugo de Vries

(VI) qaiasen & staeensti &l swHad ¥ & fad]
(a) SEEH, deEH, YhidH, SEhEad, fewdE
(b) TR, SEMEH, YR, fewidh, SHmEAtEd
(c) WRIEH, Ui, SEEH, SEshEEd, feuaidm
(d) TewieH, SasEAEd, JhidH, SEMeH, der

Stages in proper sequence of Prophase I are

(a) Zygotene, Leptotene, Pachytene, Diakinesis, Diplotene
(b) Leptotene, Zygotene, Pachytene, Diplotene, Diakinesis
(¢) Leptotene, Pachytene, Zygotene, Diakinesis, Diplotene
(d) Diplotene, Diakinesis, Pachytene, Zygotene, Leptotene

(VII) Sereifern
(a) TH T HT SR © (b) fam @ waiferg s 2
(c) HAW F HRU Bl B (d) = 9 B T
Haemophilia is
(a) an infectious disease (b) sex linked disease
(c) caused by malnutrition (d) none of the above
(VIII) 378 9§ T SiTHel &l Hiftes &1 “9e) ged” el Sl 22
(a) Tiesht TR (b) TEEE
(c) WIEHIZAT (d) eEESI
The organelles called as “power house” of the cell are
(a) Golgi apparatus (b) Ribosomes
(c) Mitochondria (d) Lysosomes
(IX) et & fod 9w qe €
(a) e, HH, S (b) TEISH, TH, T
(c) HR, HifTsed, = (d) HieTee, FAGH, Afeaq
The major nutrients for plants are
(a) Fe,Mn, Zn (b) N,P K
(c) Cu,Mo,B (d) Co, Cl, Na
G)
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I\ 9T & ST

(a) HTS (b) irsfy

(c) @} (d) ST G+t

The uses of Neem tree

(a) Timber (b) Medicinal

(c) Fertilizer (d) All of the above

@ 4 frefated wae afefea e 8-

(a) ¥ T ST (b) ¥ S TereH

(c) T, ToTed TF deted (d) 4T, ToTEd, IR W HE
Food-grain includes the followings crops

(a) Cereals and Pulses (b) Cereals and Oil seeds

(c) Cereals, Pulses and Oil seed (d) Cereals, Pulses, Oil seeds and Spices
I 3T RO (1989) # aiffhd Sfa Tom enf o wRws Ry & & sfdid o €2
(a) T TBR TE eIl & (b) Ufv=H TR T WIS &

(c) Yot 93R TS eIt & (d) TeHed T &

As per Planning Commission Report (1989) on Agroclimatic zones of India, Jharkhand comes
under

(a) Central Plateau and hill reigon

(b) Western Plateau and hill region

(c) Eastern Plateau and hill region

(d) Trans Gangatic plain region

o =R wewhl g1 wiRferfaet &1 fmfor g 22
(a) T, HTeA, ATFHSH, TEHT

(b) T, AUHH, STEAT, 6

(c) oTifask qed, IcakeR, SUHe, foisTeh

(d) WTRTERT, AIEER, Ser, wSiet

Which four components constitute an ecosystem?

(a) Water, Carbon, Oxygen, Sulphur
(b) Soil, Temperature, Humidity, Rainfall
(c) Abiotic Materials, Producers, Consumers, Decomposers

(d) Herbivores, Carnivores, Bacteria, Parasites

T IR FAfET & & W §7

(a) ¥E WSS a1 = w2

(b) U I SE W G Ukl ©

(c) &g | =l §

(d) ST qsft

The advantage of implementing rain water harvesting is
(a) Itrecharges ground water levels

(b) Itreduces run-off

(c) It avoids flooding
(d) All of the above

o
O



zThe Vision

(XV) &R T gSee fohg 76 o o 272
(a) @M
(c) FHa
Sardar Sarovar Project is built on

(a) Sone river

(¢) Narmada river

T e g% | & 9@ g ??
(a) el g9 Al i Y

(c) @A T & HISH Hl

Red data book provides data on

(XVI)

(a) red flower plants

(c) red coloured insects

(b) =R
(d) = &

(b) Tapti river
(d) None of the above

(b) TR T FTEl ASferAl H
(d) w9 W R ugre

(b) red coloured fishes

(d) endangered plants and animals

(XVII) HIV T AIDS (faru wg f=501) TR oy |l ar] g3i?
(a) 2014 (b) 2015
(c) 2016 (d) 2017
The HIV and AIDS (Prevention and Control) Act was implemented in
(a) 2014 (b) 2015
(c) 2016 (d) 2017
(XVII) GIS o @ & S 4 Hefuq 872
(a) HEAHH BA (b) IET B2
(c) Tt 20 (d) Sifeat a1

GIS deals with which kind of data?
(a) Numeric data
(c) Spatial data

g Se-gd 8
(a) Tad el
(c)

Conventional source of energy is

(XIX)

(a) Wind energy
(c¢) Coal

(XX)
(a) FAEETH
(c) WESIERIRET
Leprosy is causes due to

(a) Clostridium

(¢) Mycobacterium

Frefefad o & % |8 T & SR &7

(b) Binary data
(d) Complex data

(b) ER i
(d) =feRta st

(b) Solar energy
(d) Nuclear energy

(b) TTTHE
(d) Sreer|

(b) Salmonella
(d) Bacillus

2. YL Wd qUHeA eaTTAl 1 €2 Wehia W SULeA Al & Wil s A9 fora| wigen ety i fagioet

Tg YA T U I

What are infrasonic and ultrasonic sounds? Name the sources of Infrasonic sound in nature. Describe the

characteristics and appliations of ultrasonic sound.

32
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Y
HIR & TEF T & Fagia w1 9o w) TSI T PR & @6 ghg aq)
State Kepler’s laws of Planetary motion. Distinguish between Lunar eclipse and Solar eclipse.

. T Heerm afa 9§ @9 e wHEd §7 39 ISR Skl R

What do you understand by sex linked inheritance? Illustrate with suitable examples. 32

37

T U9 & =R Y@ sREE & T el 3wl i SAre Hi

Name four important hormones of Pituitary gland. Discuss their functions.

. P ARl W 39 o THHA €7 HiW Akl & Hewd T JaUd 1 aui i

What do you mean by Agroforestry. Describe the importance of Agroforestry and their management. 32
AT

JUFEA HHA ST A HhT gHE favarst w1 =men w1

Explain in brief the salient features of Pradhan Mantri Phasal Beema Yojna.

. 319 SR &1 YaY F 27 T iR sieifie ite ® SR, YuE 9 EEn ® 3ue e

What is solid waste management? Write causes, effects and control methods of urban and industrial waste.

32
SREN
Sefary Ufedd % WHOT SR RN w1 faawer TEqd Hifel
Explain the evidences and causes of climate change.
. Af¥as ST Gehe o1 82 Tl o dehfoush Widl 1 fagga foer ford|
What is global energy crisis? Give a detailed account of alternative source of energy. 32

Feren
HE W 1 IR | HE F YRR 1 G0 B HRAAS H g

Define cancer. Give an account of various kinds of cancers. Mention a list of carcinogens.
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